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1. ТЕ%��ЧК� О��! 

 

1.1. �Dед<ет �де\=>7 Dеше^4 

�Dед<ет >6е теE=8G>е д>>у<е=т4F8\е \е 87D4д4 �де\=>7 DеHе^4 74 877D4д^у 74D46е 8 
пD4те_8E >><еDF8\4?=8E E4дD64\4 =4 п?>G8 =4 >>т8 105.00 <=6, у >>68Dу >><п?е>E4 
6е?е7=8G>е Eт4=8Fе „��О� �� &��&� “ у �D>>>пу =4 �� 2855/111, 2855/112, 2855/113, 

2855/114, 2855/115, 2855/116, 2855/118 8 2460/15, E6е KО !46E>8 �е=4F 

 

 

1.2. Л>>4ц8\4 

Л>>4F8\4 >><п?е>E4 6е?е7=8G>е Eт4=8Fе „��О� �� &��&� “ Eе =4?478 у H8Dе< Fе=тDу 
�е>7D4д4, 87<еVу 4ут>пут4 �е>7D4д - �8H, �у?е64D4 >=е74 �?е>E4=дD4, '?8Fе 6>\6>де �ут=8>4 
8 '?8Fе �D474=4 �4=Fе4 (п?4=8D4=е &D4=E6еD74?е). 
' =еп>EDед=>\ 5?878=8 Eт4=8Fе Eу 7=4G4\=8 >5\е>т8, >>\8<4 7D468т8D4 6е?8>8 5D>\ >>D8E=8>4: 
!4\4<, �?8=8G>> 5>?=8G>8 Fе=тD8, Eт4д8>=8 �4Dт874=4 8 &D6е=е �6е7де, �е<>D8\4?=8 Fе=т4D 
8 >5\е>т8 74 Eт4=>64^е. �><п?е>E 6е?е7=8G>е Eт4=8Fе \е д><8=4=т=> E4>5D4_4\=> 6е74= 
пDе>> E4>5D4_4\=8F4 >>\е т4=78D4\у >64\ >><п?е>E, 8 т>:  
- пD8Eтуп E4 „�>D^е7 тD74“, >д=>E=> пDе>> у?8Fе �>D4=4 �у=>>68_4 >>\4 \е у =4д?е6=>Eт8 

7D4д4 �е>7D4д4, 4 п>6е7у\е �у?е64D4 >=е74 �?е>E4=дD4 �4D4V>DVе68_4 8 '?8Fу �D474=4 
�4=Fе4, т4=78D4\у_8 6е?е7=8G>у Eт4=8Fу �е>7D4д „&е=т4D“ у �D>>>пу; 

- пD8Eтуп E4 �ут>-пут4, >>\8 \е пDе>> де=86е?8E4=е D4E>DE=8Fе „6454“ п>6е74= E4 „�>^8< 
Eт4=8G=8< тD7><“. �4 >68< <еEт8<4 п?4=8D4= \е пD8Eтуп 6>78?8<4 \46=>7 7D4дE>>7 
E4>5D4_4\4, т4>E8 6>78?8<4, 47е=F8\E>>< пDе6>7у. �8E8=E>4 D47?8>4 87<еVу �ут>-пут4 8 
�у?е64D4 >=е74 �?е>E4=дD4 87=>E8 >>> 30m, 4 =86> пеD>=4 Eт4=8Fе \е пD85?86=> =4 
EDед8=8.  

- �е?е7=8G>4 Eт4=8F4 "�е>7D4д &е=т4D" \е те<е] >>=FепF8\е пут=8G>>7 де?4 5е>7D4дE>>7 
6е?е7=8G>>7 G6>D4. 

 

!т4=8G=4 77D4д4 \е ?>F8D4=4 Fе=т4?=> =4 п?>G8, =4 >>т8 105.50 <=6 (+0.00), п>E?>6=>-

>><еDF8\4?=8 E4дD64\8 Eе =4?47е 8Eт>G=> 8 74п4д=> >д Eт4=8G=е 77D4де 8 E<еHте=8 Eу у деEет 
=е7468E=8E \ед8=8F4 (>5\е>4т4). 
 

�4п4д=> Eе =4?47е E?>5>д=> Eт>\е_8 >5\е>т8 �1, �2, �1, �2, 8 >5\е>4т =4д7е<=е 74D46е,  E4 
74п4д=е EтD4=е Eе =4?47е 8 >5\е>т8 &1 8 &2 >>\8 Eе E6>\>< 8Eт>G=>< EтD4=>< у 7>=8 пD87е<]4 
=4E4?4^4\у =4 >5\е>т4 Eт4=8G=е 77D4де. !4 8Eт>G=е EтD4=е >5\е>т8 �1 8 �2 Eе E6>\>< 74п4д=>< 
EтD4=>< у 7>=8 пD87е<]4 =4E4?4^4\у =4 >5\е>т4 Eт4=8G=е 77D4де, д4 д4]е пDе<4 8Eт>>у Eе 
=4?47е E?>5>д=> Eт>\е_8 >5\е>т �, $, � 8 %. 
�4 E?>5>д=8< п>6DH8=4<4 п?>Gе =4 >>т8 105.00 <=6 D>D<8D4=е Eу 8=теD=е E4>5D4_4\=8Fе 8 
>т6>Dе=8 п4D>8=7. 
 

 

1.3.  е4л874ц8\4 877D4д^е 

�7=4д 6е?е7=8G>е 8=DD4EтDу>туDе >><п?е>E4 6е?е7=8G>е Eт4=8Fе „��О� �� &��&� “ 

877D4Vе=4 \е п?>G4 =4 >>т8 105.00 <=6.  
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' E>?4ду E4 >дDед54<4 �4>>=4 > п?4=8D4^у 8 877D4д^8, 87=4д 8?8 8Eп>д 8=6е^еDE>8E 
>5\е>4т4 >>\8 пDедEт46]4\у \46=у ?8=8\E>у 8=DD4EтDу>туDу 8?8 =4 877D4Vе=8< де?>68<4 т>7 
>5\е>т4, =4 >>\8<4 \е п?4=E>8< д>>у<е=т>< пDед68Vе=4 877D4д^4, <>7у Eе D>D<8D4т8 =>6е 
>4т4Eт4DE>е п4DFе?е у E>?4ду E4 пD468?8<4 >>\8<4 Eе уDеVу\е п4DFе?4F8\4, >д=>E=> 
пDеп4DFе?4F8\4. 
 

�4 >E=>6у т>74 п?>G4 =4 >>т8 105.00 <=6 п>де]е=4 \е =4 >E4< >4т4Eт4DE>8E п4DFе?4 >4>> 58 Eе 
><>7у_8?4 877D4д^4 >5\е>4т4 E4 D47?8G8т>< =4<е=>< 8?8 Dу=>F8>=4?=>< >D74=874F8\><, 4 
т> Eу Eт4=8G=4 77D4д4, п4D>8=7, =4д7е<=4 74D464 8 пD4те_8 п>E?>6=>->><еDF8\4?=8 E4дD64\8 
у >>68Dу >><п?е>E4 6е?е7=8G>е Eт4=8Fе "��О� �� &��&� ". 
�><е=уте п4DFе?е Eу �� 2855/111, �� 2855/112, �� 2855/113, �� 2855/114, �� 2855/115, �� 
2855/116, �� 2855/118 8 �� 2460/15, �О !46E>8 �е=4F. 
 

 

1.4. $47=>Eт 877D4д^е 

�4>> Eе >><п?е>E E4Eт>\8 >д п>\ед8=4G=8E п>E?>6=> >><еDF8\4?=8E >5\е>4т4 8 87д6>\е=>7 
>5\е>т4 =4д7е<=е 74D46е п?4=8D4=4 \е D47=4 877D4д^4 у >>68Dу >4т4Eт4DE>8E п4DFе?4: 
• $474 – О5\е>4т A1 =4 пD8п4д4\у_е< де?у �� 2855/114 (1459 m2) 

• $474 – О5\е>4т A2 =4 пD8п4д4\у_е< де?у �� 2855/114 (2071 m2) 

• $474 – О5\е>4т �1 =4 пD8п4д4\у_е< де?у �� 2855/114 (1409 m2) 

• $474 – О5\е>4т B2 =4 пD8п4д4\у_е< де?у �� 2855/114 (1941 m2) 

• $474 – �4д7е<=4 74D464 =4 �� 2855/118 (5214 m2)8 �� 2460/15 (2 m2) 

8 =4 пD8п4д4\у_е< де?у �� 2855/114 (618 m2) 

• $474 –  О5\е>4т &1 =4 пD8п4д4\у_е< де?у  �� 2855/115 (1524 m2) 

• $474 –  О5\е>4т &2 =4 пD8п4д4\у_е< де?у  �� 2855/115 (1478 m2) 

• $474 –  О5\е>4т �1 =4 пD8п4д4\у_е< де?у  �� 2855/116 (1521 m2) 

• $474 –  О5\е>4т �2 =4 пD8п4д4\у_е< де?у  �� 2855/116 (1480 m2) 

• $474 –  О5\е>4т � =4 пD8п4д4\у_е< де?у  �� 2855/112 (2657 m2) 
• $474 –  О5\е>4т $ =4 пD8п4д4\у_е< де?у  �� 2855/112 (1999 m2) 
• $474 –  О5\е>4т � =4 пD8п4д4\у_е< де?у  �� 2855/112 (2553 m2) 
• $474 –  О5\е>4т % =4 пD8п4д4\у_е< де?у  �� 2855/112 (1942 m2) 

 

$47е Eе <>7у 876>д8т8 у 58?> >>< Dед>E?еду п>\ед8=4G=>, 68Hе D474 8Eт>6Dе<е=> 8 E?8G=>. 
�>Gет4> Dе4?874F8\е \ед=е D47е =8\е уE?>6]е= 746DHет>>< пDетE>д=> 74п>Gете D47е. 
 

�D8?8>>< Dе4?874F8\е п?4=8D4=8E E4дD64\4 п> D474<4, д>76>]е=4 Eу пDе?47=4 (пD86Dе<е=4) 
DеHе^4, у E<8E?у 8=DD4EтDу>туD=8E 8 E4>5D4_4\=8E пD8>]уG4>4, =4 =4G8= д4 E64>4 D474 
Dу=>F8>=8Hе >4> E4<>Eт4?=4 Fе?8=4, д> 877D4д^е Fе?>7 >><п?е>E4, >д=>E=> д4 Eе >5е75ед8 
=еE<ет4=> Dу=>F8>=8E4^е E68E >5\е>4т4 д> >D4\4 877D4д^е >><п?е>E4. 
 

 

1.5. !4>5D4ћ4\ 8 п4D>8D4^е 

�=теD=4 E4>5D4_4\=4 <Dе64 у пDед<ет=>< 7D4Vе68=E>>< >><п?е>Eу >E?4^4 Eе =4 п>Eт>\е_у 
\46=у E4>5D4_4\=8Fу – у?8Fу �>D4=4 �у=>>68_4 >>\4 \е у =4д?е6=>Eт8 7D4д4 �е>7D4д4, 4 E4 >>\е 
Eе пD8Eтуп4 E4дD64\8<4 =4 п?>G8 =4 >>т8 105.00=<6. 
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�>тDе54= 5D>\ <еEт4 74 п4D>8D^е п>E?>6=>->><еDF8\4?=8E >5\е>4т4 Eе >Eт64Dу\у =4 
>т6>Dе=>< п4D>8=7у =4 �� 2855/113 у >>68Dу >>74 \е >5е75еVе=> 257 п4D>8=7 <еEт4 8 у >>68Dу 
=4д7е<=е 74D46е >>\4 Eе =4?478 =4 �� 2855/118 8 �� 2460/15 4 у >>68Dу >>\е \е >5е75еVе=> 
670 74D46=8E <еEт4, 4 =4 �� 2855/118 >5е76еVе=> \е \>H 5 п4D>8=7 <еEт4 =4 >т6>Dе=><. 
 

' у>уп=>< 5D>\у <еEт4 74 п4D>8D4^е \е 8 67 (7.29%) <еEт4 74 п4D>8D4^е 74 ?8F4 E4 
8=64?8д8тет><. 
 

 

1.6.�>6Dш8=е, EпD4т=>Eт 8 фу=>ц8\4 

�>E?>6=> >><еDF8\4?=8 >5\е>4т8  

�Dут> D4768\е=4 7D4Vе68=E>4 п>6DH8=4 74 $47у - >5\е>4т �1 \е 4 327.94 m2 

�Dут> D4768\е=4 7D4Vе68=E>4 п>6DH8=4 74 $47у - >5\е>4т �2 \е 4 418.41 m2 

�Dут> D4768\е=4 7D4Vе68=E>4 п>6DH8=4 74 $47у - >5\е>4т �1 \е 4 604.19 m2 

�Dут> D4768\е=4 7D4Vе68=E>4 п>6DH8=4 74 $47у - >5\е>4т �2 \е 4 511.26 m2 

�Dут> D4768\е=4 7D4Vе68=E>4 п>6DH8=4  74 $47у - >5\е>4т &1 \е 4 826.49 m2 

�Dут> D4768\е=4 7D4Vе68=E>4 п>6DH8=4  74 $47у - >5\е>4т &2 \е 4 449.54 m2 

�Dут> D4768\е=4 7D4Vе68=E>4 п>6DH8=4  74 $47у - >5\е>4т �1 \е 4 832.27 m2 

�Dут> D4768\е=4 7D4Vе68=E>4 п>6DH8=4  74 $47у - >5\е>4т �2 \е 4 436.63 m2 

�Dут> D4768\е=4 7D4Vе68=E>4 п>6DH8=4  74 $47у - >5\е>4т � \е 4 320.24 m2 

�Dут> D4768\е=4 7D4Vе68=E>4 п>6DH8=4  74 $47у - >5\е>4т $ \е 4 332.03 m2 

�Dут> D4768\е=4 7D4Vе68=E>4 п>6DH8=4  74 $47у - >5\е>4т � \е 4 616.64 m2 

�Dут> D4768\е=4 7D4Vе68=E>4 п>6DH8=4  74 $47у - >5\е>4т % \е 4 618.60 m2 

 

&4>> д4 у>уп=4 � �� п>E?>6=> >><еDF8\?4=8E >5\е>4т4 87=>E8 54 294.42m2. 

�4>E8<4?=4 68E8=4 E?е<е=4 >68E >5\е>4т4 \е 28.50 <, >д=>E=> 134.00 <=6. 
 

О5\е>т8 �1, �2, �1, �2, �, $, � 8 % Eу E?>5>д=>Eт>\е_8 8 8<4\у EпD4т=>Eт �D + 5. 

О5\е>т8 &1, &2, �1 8 �2 Eу >5\е>т8 у =87у 8 т4>>Vе 8<4\у EпD4т=>Eт �D + 5. 
 

�>E?>6=> >><еDF8\?4=8 >5\е>т8 Eу де> п>E?>6=>->><еDF8\4?=>7 п4D>4 D>D<8D4=>7 =4 п?4т>у 
87д87=ут>< >д =8>64 у?8Fе (+ 2.00 <) 8 >д6>\е=>7 >д 7?46=>7 пD8Eтуп4 6е?е7=8G>>\ Eт4=8F8. 
 

!4<8 >5\е>т8 Eу 58?8 >>=F8п8D4=8 >4> „open space“ пD>Eт>D8 E4 Fе=тD4?=8< \е77D>< у >><е 
Eе =4?47е 6еDт8>4?=е >><у=8>4F8\е 8 E4=8т4D=8 5?>> 8 58?> \е пDед68Vе=> д4 Eе пD86еду 
уп>тDе58 =4 =86>у >5D4де „E864 D474“, >д=>E=> „Shell&Core“. 

�4> т4>68 Eу д>58?8 8  еHе^4 > 7D4Vе68=E>>\ д>76>?8 87д4т4 >д EтD4=е �8=8Eт4DEт64 
7D4Vе68=4DEт64, E4>5D4_4\4 8 8=DD4EтDу>туDе 8 т>: 
• >5\е>т8 &1, &2, �1 8 �2 - �D>\: 351-02-02570/2022-07; ROP-MSGI-24847-CPIH-6/2022 

>д 29.08.2022. 7>д8=е, 8  еHе^е > 87<е=8  еHе^4 > 7D4Vе68=E>>\ д>76>?8 

�D>\: 351-02-02570/2022-07; ROP-MSGI-24847-CPIH-6/2022 >д 09.12.2022. 7>д8=е 

• О5\е>т8 �1, �2, �1 8 �2 - �D>\: 351-02-02459/2023-07; ROP-MSGI-5675-CPI�-4/2023 

>д 31.08.2023. 7>д8=е 

• О5\е>т8 �, $, � 8 % - �D>\: 351-02-02548/2023-07; ROP-MSGI-25827-CPIH-2/2023 

>д 13.09.2023. 7>д8=е  
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' <еVу6Dе<е=у \е >д?уGе=> д4 Eе >>д =е>8E п>E?>6=>->><еDF8\4?=8E >5\е>4т4 =4пуEт8 „open 

space“ Dу=>F8>=4?4=4 >D74=874F8\4 8 д4 Eе п> EпD4т>68<4 D>D<8D4 876еEт4= 5D>\ 87д6>\е=8E 
>4=Fе?4D8\E>8E пD>Eт>D4. 

 

' E>?4ду E4 =>6>< Dу=>F8>=4?=>< >D74=874F8\>< п><е=ут8E >5\е>4т4, >д?уGе=> \е д4 Eе 
>дуEт4=е >д =86>4 >5D4де „E864 D474“, >д=>E=> „Shell&Core“ 8 д4 Eе >=8 уDеде 8 >пDе<е =4 
=86>у „Fit Out“ >д=>E=> д4 Eе п>Dед 7D4Vе68=E>8E D4д>64 876еду 8 E68 пDе>Eт4?8 
8=Eт4?4теDE>8, 7D4Vе68=E>>-74=4тE>8 8 е=теD8\еE>8 D4д>68. 

 

О5\е>4т =4д7е<=е 74D46е 

О5\е>4т =4д7е<=е 74D46е \е у  еHе^у > 7D4Vе68=E>>\ д>76>?8 �D>\: 351-02-02459/2023-07; 

ROP-MSGI-5675-CPI�-4/2023 >д 31.08.2023. 7>д8=е 87д4т8< >д EтD4=е �8=8Eт4DEт64 
7D4Vе68=4DEт64, E4>5D4_4\4 8 8=DD4EтDу>туDе 58> деD8=8E4= >4> E?>5>д=>Eт>\е_8 у 
п>?у=86>8<4 EпD4т=>Eт �D + 5. �4>E8<4?=4 68E8=4 >5\е>т4 =4д7е<=е 74D46е \е 87=>E8?4 
23.44 <, >д=>E=> 128.94 <=6. �Dут> D4768\е=4 7D4Vе68=E>4 п>6DH8=4 \е 87=>E8?4 15 096.14 

m2, 4 5D>\ пDед68Vе=8E 74D46=8E <еEт4 \е 87=>E8> 568. �D>6 \е 58> пDед68Vе= >4> D464=, 

=епD>E>д4=. 

 

�D>7 д4]у D47D4ду уEт4=>6]е=> \е д4 \е <>7у_е 4>т868D4т8 >D>6 74D46е 74 д>58\4^е д>д4т=8E 
<еEт4 74 п4D>8D4^е, 8Eт> т4>64 <>7у_=>Eт \е у>Gе=4 8 =4 п>?у=86>у =4 >>т8 +6.10. 

 

О68< 8де\=8< DеHе^е< >D>6 74D46е п>Eт4\е =>64 ет464, деD8=8E4=4 >D>7 д64 п>?у=86>4 =4 
>>т4<4 +18.70 8 +20.10, 4 >5\е>4т =4д7е<=е 74D46е д>58\4 EпD4т=>Eт �D + 6. 

�>64 <4>E8<4?=4 68E8=4 6е=F4 >5\е>т4 =4д7е<=е 74D46е \е 8 <4>E8<4?=4 68E8=4 =4д7е<=е 
74D46е 8 87=>E8 23.60 <, >д=>E=> 129.10 <=6. 

�>64 5Dут> D4768\е=4 7D4Vе68=E>4 п>6DH8=4 74 $47у – =4д7е<=4 74D464 \е 18 161.96 m2. 

�4 =>6> D>D<8D4=8< п>?у=86>8<4 =4 >>т4<4 +18.70 8 +20.10 >Eт64Dе=> \е д>д4т=8E 96 
74D46=8< <еEт4, 4 =4 =4 >>т8 +6.10 \>H 6 74D46=8E <еEт4. 
 

�7=4д =>6>D>D<8D4=8E п>?у=86>4, =4 >>т4<4  +18.70 8 +20.10, у 7>=8 <еEт4 пDед68Vе=8E 74 
п4D>8D4^е <>т>D=8E 6>78?4 пDед68V4 Eе D>D<8D4^е ?474=е Gе?8G=е =4дEтDеH=8Fе.  
 

 

1.7. ВеDт8>4л=8 тD4=Eп>Dт 
�>E?>6=> >><еDF8\4?=8 >5\е>4т8  

�еDт8>4?=4 >><у=8>4F8\4 у >>68Dу п>E?>6=> >><еDF8\?4=8E >5\е>4т4 >546]4 Eе ?8Dт>68<4. 
�4 E64>8 >5\е>4т пDед68Vе=4 Eу п> д64 ?8Dт4 >4п4F8тет4 1000kg, >д=>E=> 13 >E>54. 
 

О5\е>4т =4д7е<=е 74D46е 

' >>68Dу >5\е>т4 =4д7е<=е 74D46е т4>>Vе Eу пDед68Vе=4 д64 ?8Dт4 >4п4F8тет4 800kg, >д=>E=> 
13 >E>54. 
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 у >>68Dу >><п?е>E4 6е?е7=8G>е Eт4=8Fе „��О� �� &��&� “ у �D>>>пу 
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1.8. �4теD8\4л874ц8\4 

�>E?>6=> >><еDF8\4?=8 >5\е>4т8  

$4E4де п>E?>6=>->><еDF8\4?=8E >5\е>4т4 Eу пDед68Vе=е >4> E8Eте< 4?у<8=8\у<E>е 78д 
746еE4 E4 теD<> пDе>8д>< E4 тD4=Eп4Dе=т=8E 8 =етD4=Eп4Dе=т=8< де?>68<4. �4 D4E4д8 

>5\е>4т4 �1, �2, &2, �2, � 8 %, >>\4 \е >D8\е=т8E4=4 >4 у?8F8 �>D4=4 �у=>>68_4, 8EпDед 78д 
746еEе пDед68Vе=> \е п>Eт46]4^е 4?у<8=8\у<E>8E 5D8E>?е\4. 
 

ОE=>6=8 D4EтеD G8=е 4?у<8=8\у<E>8 пD>D8?8 Eт4=д4Dд=>7 т8п4, >D8\е=т4F8>=е H8D8=е 
50mm, E4 теD<>пDе>8д><, п?4Eт8D8F8D4=8 у <4т 5>\8. !64 D4E4д=4 п>]4, 74Eт4>]е=4 Eу 

Eт4>?>п4>ет>< тD4=Eп4Dе=т=8< 8 =етD4=Eп4Dе=т8< у 7>=8 �� >>=EтDу>F8\е. 
 

' пD87е<]у Eт4>?4 Eу ?4<8=8D4=4, >E8< =4 6D4т8<4 7де Eу >4]е=4, >4> 8 =4 E68< 
=етD4=Eп4Dе=т=8< п>]8<4 D4E4де. �7=4д пD87е<]4 Eп>]4E^е Eт4>?> \е >4]е=>, 4 у=утDH^е 
?4<8=8D4=>. 

 

�D>6>68 Eу пDед68Vе=8 >4> D46=8, =епD>E>д=8. �Dе>> �� п?>Gе 876>д8 \е п4D=4 5D4=4 8 
теD<>87>?4F8\4 >д т6Dд8E п?>G4 де5]8=е д> 250mm, пDе>> >>\е Eе п>Eт46]4 ��& D>?8\4. 
�Dе>> E?>\4 74 п4д 876>д8 Eе E8дD>87>?4F8\4 у D>D<8 ��& <е<5D4=е. 
 

�>д>68 у >5\е>т8<4 Eе 876>де у E>?4ду E4 =4<е=>< пD>Eт>D8\е. ' EтDу>туD8 п>д4 пD>Eт>D8\4 
>>\е Eе =4?47е 87=4д =е7Dе\4=>7 пD>Eт>D4 пеD>=4 пD8<е=8_е Eе >4<е=4 6у=4 де5]8=е 200mm. 

 

'=утD4H^8 78д>68 58_е 78д4=8, 876еде=8 >д 78пE >4Dт>=4 8/8?8 „Ytong“ 5?>>>64, у 
7468E=>Eт8 >д =4<е=е пD>Eт>D8\е, 746DH=> 7?ет>64=8 8 5>\е=8 п>?уд8EпеD78>=>< 5>\><. 
 

' E68< D4д=8< пD>Eт>D8<4, >4> 8 EпD4т=8< E>д=8F8<4 пDед68V4\у Eе EпуHте=8 п?4D>=8. ' 
теE=8G>8< пD>Eт>D8\4<4 8 Eтепе=8H=8< \е77D8<4 п?4D>=8 Eу �� п?>G4 746DH=> >5D4Vе=4. 

 

!?>5>д4= пD>Eт>D п?4т>4 =4 >><е Eе =4?47е п>E?>6=> >><еDF8\4?=8 >5\е>т8 \е >E<8H]е= >4> 
6Dт E4 5у\=8< 7е?е=8?><.О5D4д4 п4DтеD4 _е 58т8 у Eт4=д4Dду п4D>4 68Hе >4те7>D8\е. 
 

О5\е>4т =4д7е<=е 74D46е 

$4E4ду >5\е>т4 =4д7е<=е 74D46е G8=е 4D<8D4=> 5ет>=E>8 е?е<е=т8, Eту5>68 8 7Dеде 
(D4E4д=8 п4D4пет8) >>\е 8<4\у 8 Dу=>F8\у 74Hт8т=е >7D4де. !68 D4E4д=8 4D<8D4=> 5ет>=E>8 
е?е<е=т8 Eу 5>\е=8 D4E4д=8< 5>\4<4 74 5ет>=. 
 

�4 D4E4д4<4 =4д7е<=е 74D46е >>\е Eу >D8\е=т8E4=е >4 у?8F8 �>D4=4 �у=>>68_4 8 >4 
п>E?>6=8< >5\е>т8<4 �1, 8 �1 пDед68Vе=> \е п>Eт46]4^е 4?у<8=8\у<E>8E 5D8E>?е\4. 
 

�4 74д^8 п>?у=86>8<4 =4д7е<=е 74D46е, пDе>> �� п?>Gе пDед68Vе=> \е =4=>Hе^е п>д>64 
>>\8 п>Dед Dу=>F8\е E8дD>87>?4F8\е тDе54 д4 8<4\у Eп>E>5=>Eт пDе<>H_464 д8=4<8G>8E 

пу>>т8=4 (пеD8>д8G=> >т64D4^е 8 74т64D4^е пу>>т8=4 у �� >>=EтDу>F8\8 уE?ед Eе7>=E>8E 
87<е=4 те<пеD4туDе). 
  



 �де\=> DеHе^е 74 877D4д^у 74D46е 8 пD4те_8E >><еDF8\4?=8E E4дD64\4 

 у >>68Dу >><п?е>E4 6е?е7=8G>е Eт4=8Fе „��О� �� &��&� “ у �D>>>пу 
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О5D4д4 п>д>64 E4>5D4_4\=8F4 8 п4D>8D=8E п>6DH8=4 \е у7 пD8<е=у теE=>?>78\е д8Dе>т=>7 
=4=>Hе^4 =4 �� п?>Gе. �>д>68 Eтепе=8H=8E \е774D4 Eу >5D4Vе=8 4=т8>?87=8< 
>еD4<>7D4=8т=8< п?>G8F4<4. 
 

'=утD4H^8 78д>68 58_е 78д4=8, 876еде=8 >д 78пE >4Dт>=4 8/8?8 „Ytong“ 5?>>>64, у 
7468E=>Eт8 >д =4<е=е пD>Eт>D8\е, 746DH=> 7?ет>64=8 8 5>\е=8 п>?уд8EпеD78>=>< 5>\><. 
 

 

1.9. К>=EтDу>ц8\4 

�>=EтDу>т86=8 E8Eте< п>E?>6=> >><еDF8\4?=8E >5\е>4т4 8 =4д7е<=е 74D46е \е пD8?47>Vе= 
п>Eт>\е_е< >>=EтDу>т86=>< E8Eте<у п?>Gе =4 >>т8 105.00 =<6, 6>де_8 D4Gу=4 > <4>E8<4?=>< 
д>76>]е=>< >птеDе_е^у (у E>?4ду E4 Eт4т8G>>< пD>6еD><) 8 п>?>64\у =>Eе_8E Eту5>64. 
 

&е?>< п>6DH8=>< п?>Gе, =4 68E8=8 >д 2 <етD4 у >д=>Eу =4 >>ту п?>Gе (105.00=<6), \е 
D>D<8D4= >>=EтDу>т86=8 п?4т> =4 >><е Eу п>Eт46]е=8 >5\е>т8 п>E?>6=>->><еDF8\4?=е 
=4<е=е. 
 

�>=EтDу>F8\4 >5\е>т4 \е пDед68Vе=4 >4> 4D<8D4=>-5ет>=E>4. �еVуEпD4т=4 >>=EтDу>F8\4 \е 
4D<8D4=>-5ет>=E>4 п?>G4 >д7>64D4\у_е де5]8=е, E4 7Dед4<4, >>\4 Eе >E?4^4 =4 6еDт8>4?=е 
=>Eе_е е?е<е=те. 
 

�еDт8>4?=8 =>Eе_8 е?е<е=т8, 4D<8D4=>-5ет>=E>8 78д>68 8 Eту5>68 D4Eп>DеVе=8 Eу у 
пD468?=>< D4EтеDу. 
 

�D8\е< E>D87>=т4?=8E-Eе87<8G>8E E8?4 8 E8?4 6етD4 п>6еDе= \е 4D<8D4=>-5ет>=E>8< 
78д>68<4-\е77D8<4 у E4де\Eт6у E4 4D<8D4=>-5ет>=E>8< Eту5>68<4 8 7Dед4<4. 
 

 

1.10. �=Eт4л4ц8\е 

' п>E?>6=> >><еDF8\4?=8< >5\е>т8< 8 =4д7е<=>\ 74D468 пDед68Vе=е Eу E6е 8=Eт4?4F8\е 8 
8=DD4EтDу>туD4 >>\4 \е п>тDе5=4 74 E46Dе<е=> Dу=>F8>=8E4^е 8 >><D>D=у е>Eп?>4т4F8\у 
>5\е>т4 у E>?4ду E4 пD>\е>т=8< 74д4т>><, 5?868< уE?>68<4 =4д?е6=8E 8<4>F4 \46=8E 
>6?4H_е^4 8 646е_8< пD>п8E8<4 8 Eт4=д4Dд8<4. 
 

 

1.11. Одл474^е >><у=4л=>7 >тп4д4 

�4 E64>8 п>E?>6=>->><еDF8\4?=8 >5\е>4т пDед68Vе=4 Eу п> 4 <ет4?=4 >>=те\=еD4 74пDе<е=е 
1100 ?8т4D4 74 >д?474^е >><у=4?=>7 >тп4д4. 
 

 

1.12. �4шт8т4 >д п>64D4 

�4Hт8т4 >д п>64D4 Eе >5D4Vу\е >D>7 п>Eе5=е е?45>D4те 8 пD>\е>те у =4Dед=8< D474<4 87D4де 
пD>\е>т=>-теE=8G>е д>>у<ет4F8\е. 

  



 �де\=> DеHе^е 74 877D4д^у 74D46е 8 пD4те_8E >><еDF8\4?=8E E4дD64\4 

 у >>68Dу >><п?е>E4 6е?е7=8G>е Eт4=8Fе „��О� �� &��&� “ у �D>>>пу 
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1.13 . �4шт8т4 686>т=е EDед8=е 

у F8]у EпDеG464^4, >д=>E=> E<4^е^4 ут8F4\4 п?4=8D4=8E >5\е>т4 =4 G8=8>Fе 686>т=е 
EDед8=е пDед68V4 Eе: 

- уE>?4V864^е >4п4F8тет =>6е 877D4д^е E4 >4п4F8тет8<4 >><у=4?=е 8=DD4EтDу>туDе 

- >5е75еV864^е д>6>]4=е п>6DH8=4 п4DFе?е п>д 7е?е=8?>< 

- Fе=тD4?87>64=> 747Dе64^е / E?4Vе^е >5\е>т4, >>=тD>?8E4=> 8 еD8>4E=> пD8>уп]4^е 
74у]е=8E 4<>EDеDE>8E 6>д4 8 ^8E>6> >д6>Vе^е 

- пD8<е^864^е <еD4 76уG=е 74Hт8те 

- >5е75еV864^е >>=т8=у8D4=>7 D4д 7>Dе =46еде=8E E8Eте<4 у E?уG4\у =еEт4=>4 е?. е=еD78\е 
у7D4д^=>< д87е? 47Dе74т4 E4 >5е75еVе^е< >д FуDе^4 е=еD7е=4т4 

- еD8>4E=> >>D8H_е^е е=еD78\е у78<4\у_8 у >578D <8>D>>?8<4теE>е уE?>6е ?>>4F8\е 8 
>>D8H_е^е< E46Dе<е=8E теE=>?>H>8E DеHе^4 

- у7D4д^4 Eу68E тD4=ED>D<4т>D4 у тD4D>-Eт4=8F4<4 E4 7D4Vе6=8E>8< DеHе^8<4 >>\4 
>5е75еVу\у д4  =е\>=878D4\у_4 7D4Gе^4 5уду у д>76>]е=8< 6Dед=>Eт8<4 

- 74 е64>у4F8\у >пт4д4 87 п?4=8D4=>7 >5\е>т4, Eуд>68->>=те\=еDе 74пDе<8=е 1100 ?8т4D4. 
 

' EтDу>туD8 >тп4д=8E 6>д4 87 =4д7е<=е 74D46е 8 п4D>8=7 п>6DH8=4 7е=еD8Hу Eе E4=8т4Dт=е 
8 4т<>EDеDE>е 6>де >>\е, у7 пDедE>=8 пDедтDет<4= >D>7 >д7>64D4\у_8 уDеV4\ – Eеп4D4т>D 74 
>д64\4^е <4Eт8 8 =4Dт=8E  деD868т4, <>7у 58т8 пD8>]уGе=е =4 Eеп4D4т=8 E8Eте< 4т<>EDеDE>е 
>д=>E=> Eеп4D4т=8 E8Eте< >4=4?874F8>=е <Dе6е >>\>< упD46]4 ��� „�е>7D4дE>8 6>д>6>д 8 
>4=4?874F8\4“. 
 

 

 

�е>7D4д, \4=у4D 2024. О��О�О �� � О���&��& �� -4: 

 

 

 

 �>68F4 �у8_4, д8п? 8=7 4DE 


